T4 B A B kOOt H o  rmessoasinsie )
GHEANEET) FRR28EILA 1A MRk
. A . A e N . A a
L €4 A 7 X 3 L z4 LIRS 7 I 3 HT g4 HEHF AL 7 I 3 H] HE 7 X En

FRAERT 95 105 116 221|Frn AT 180 168 154 322|FKkET— T H 265 250 189 439| HRCHHHT 255 302 313 615
ARYHT 199 191 211 402| IHTHN 12,063| 11,668| 12,652| 24, 320[#kHT T H 154 153 112 265 |/ AFEMT 608 729 844 1,573
JELET 420 392 462 854 FRET =T H 127 136 114 250 KEFHHX 3,470 4,205 4,409 8,614
T 565 597 617| 1, 214|8REHT 238 261 284 545[%K0TPY T H 75 51 55 106
& HHET 324 315 338 653| BRIFHT 3,625 3,887 3,912 7,799 ANHEHX 9,867| 10,418| 10,027| 20, 45| Fa[ A LHT 344 439 447 886
T 263 230 234 464 FRAArHT 186 207 226 433 A HmT 207 286 312 598
T 121 122 124 246 75 FHIT 525 512 531 1, 043 HrfRmT 1,150 1, 466 1,506 2, 9729 (LT — T H 572 617 724 1, 341
KAGHT 594 565 575 1, 140[JTAHT 3,622 3,893 4,034 7, 927|Hr{fH fHET 362 404 434 838| 4k ILIT T H 232 259 273 532
SR HT 17 13 16 29] H iR T 3,287| 3,573 3,638  7,211|HEHT 1,633 1,717]  1,853| 3, 570|/INEHT 632 731 766 1,497
SRS HT 52 44 57 1012 K0T 581 635 618 1, 253( H mHT 1,042 1,225 1,186|  2,411|(i4HT 1,504 1,857| 2,013 3,870
EeviilsElng 213 221 269 490 =1 BT 1,363 1,538 1,614 3,152 #Hr&R#X 4,187 4,812 4,979 9,791 mE/\iEHIX 3,491| 4,189 4,535 8,724
AeiEsT 76 65 58 123[ KAy 152 154 167 321
JUTRHT 201 203 231 434 HGHT 360 435 511 946 | H- B HT 2,735| 2,884  3,152| 6, 036| & EHT 465 486 540, 1,026
HHHT 163 126 94 220( HERET—T H 340 384 398 782| K\ AHT 1,140]  1,300| 1,239 2, 539| FEIFHT 280 348 363 711
AT 77 59 80 L39| BLERHT T H 461 506 473 979 /N J\AHT 1,190 1,414| 1,404 2, 818|&HrHHET 748 820 858 1,678
FFIHE— T B 144 143 161 304| K ERET =T H 444 537 500 1, 037| E#=RAT 436 521 561 1, 082| B HLHT 205 258 257 515
TRHEET T H 117 136 131 267 HERHETIY T H 317 367 417 T84|[EEETE — T H 32 22 21 43| FHmy 1,087 1, 349 1,416 2, 765
FFET =T B 116 125 127 252  ERIR MK 15,501 16,889 17,323 34, 212|RIEHTVE T H 100 103 88 191]# E MY 643 821 839 1,660
TRTEETE T H 144 163 176 339 fEIT— T H 340 237 357 594 & X 3,428 4,082 4,273 8, 355
FFIHETH T H 21 15 8 23| A JRET 3,704 4,053| 4,218 8, 271|MEET =T H 35 33 31 64
B Fnmy 429 421 488 909| AT — T H 259 283 327 610\ EET =T H 14 12 14 26| A Br T 5, 609 6,317| 6,479 12,796
5 LT 27 21 26 47| FFET =T H 581 636 708 1, 344|RERTIU T H 125 132 125 257| = JEHT 211 298 326 624
ELHT 166 168 193 361| A BT =TH 866 881 971 1, 852 BT 1,938  2,176| 2,329 4,505 A EHIX 5,820 6,615 6,805 13,420
BT 34 24 32 56| <F 2 MT 1,657 1,747 1,860 3,607 HJIHEX 8,085 8,834 9,321 18,155
31 T 176 149 178 327 | SFEBHHHT 1,441 1,495 1,559 3,054 KIRAT 408 486 545 1,031
EA 508 503 543 1, 046|527 HT 196 200 214 414| BT 479 486 593 1, 079| 5 H WY 508 601 595| 1,196
RO T 35 22 31 53|\ FRET—TH 477 493 527 1, 020| &R ET 2,231 2,427 2,463 4, 890| & EFHT 605 734 704 1,438
fEEHT 81 67 75 42| \FRHET =T H 346 335 384 T19| FRHT 232 290 317 607 74 JeHT 137 150 141 291
HEAHT 39 38 49 BT[N\ TARET=TH 465 492 558 1, 050 & g lT 1,039 1,140  1,198) 2, 338|#kJEHT 527 692 703 1,395
HH ] 267 244 239 483\ TFARHETIY T H 366 413 450 863 | HRIEHT 532 623 626 1, 249| %% =5 T 369 434 388 822
HHT 167 159 172 331 FEHIX 10,358 11,028| 11,776 22, 804|HTEHT 380 379 461 840| 7T IS4 BT 507 644 642| 1,286
P HT 603 615 630 1, 245 NI T 2,217 2,681 2, 746 5,427) s EHIX 3,061 3,741 3,718 7,459
ERAET 27 28 23 51| b EpET 2,262| 2,529 2,643 5, 172|F5HHET 137 173 179 352
i LLIT 522 508 567| 1, 075|{=BFENT 37 35 42 771 g X 7,247) 8,199 8,583 16, 782| LuEHT 256 339 350 689
HRHT 24 29 28 57| krERT 3,532 3,818 3,800 7,618 TERERHT 135 178 178 356
5 LT 201 187 184 371| AL AERT 345 388 455 843 |- 4 T 1,232 1,425 1,466 2,891 F 75 HHET 154 206 203 409
JEmT 164 169 170 339| 22 HT 704 700 738 1, 438| T[] W 1,818 2,113 2,154  4,267| FiEHT 374 477 464 941
T 367 351 378 729| T =BT 1,221 1,477 1,478 2, 955wy 822 934| 1,001 1, 935 5l 307 440 410 850
R R T 33 29 35 64| T2 yiT 1,496  1,833| 1,820 3, 653|dbL/A{RHET 431 462 512 974| VKR FHT 404 469 432 901
AT 1,576 1, 580 1, 744 3, 324( T ERT 1,020 1,213 1,212 2,425 B[ X 4,303 4,934 5,133 10, 067|/\iFJFHT 348 460 460 920
i HH T 196 184 210 394 Btk PHHT 400 469 469 938 T ) | 1 (X 1,978 2,569  2,497| 5,066
FauT 134 122 150 272 JEET—T H 515 583 556| 1, 139|7hHET 477 594 610 1,204
RN 179 150 168 318|HEHT — T H 1,401 1,390 1,649 3, 039|%5HHT 456 588 605 1, 193| AHNT =/ & 468 606 576| 1,182
faprli) 192 194 234 428| 1 JEHT =T H 633 699 761 1, 460| LT BT 162 197 196 393 I T 4 410 498 496 994
AHT 172 149 167 316|HEHTIN T H 643 706 726 1,432|47 0T 132 177 178 355| AHINT KA 167 217 215 432
JEAH T 114 92 63 155| WHERT 861 952 985 1, 937| k)11 HT 1,141 1,387 1,457 2, 844| BT A K 111 140 160 300
AN=10) 342 368 412 780|FnHH £ T 600 643 577 1, 220| /A i T 364 439 483 922| A AINT )1 327 371 400 771
)BT 236 185 229 414 PEBFHIX 15,670| 17,435 17,911 35, 3463 fHHT 444 526 534 1,060 APHHLX 1,483 1,832 1,847 3,679
Ly 106 100 101 201 Frldmy 248 317 330 647
= HT 88 79 97 176| L/ B HT 785 860 961 1,821 REpHIX 3,424 4,225 4,393 8, 618|FEHRHTEH R 720 872 928| 1,800
DU T 32 39 32 71| _E/hggEaT 471 564 618 1,182 FERHT SO 89 108 118 226
AT 44 47 45 92| FAfA T 2,953 3,010] 2,719 5, 729( b RHAET 1,243 1,411 1, 440 2, 851| EABHT k2.2 IR 316 206 190 396
FETEIT 72 72 62 134 T/ sy 2,162 2,258 2,181 4, 439|185 JEHT 299 385 403 T88| FEHRMT I 963 1,227 1,291 2,518
SHAEHT 247 258 296 554| /NS HT 1,517 1,589 1,536 3, 125| SEIGHT 635 840 859 1, 699| HARHT HUHH = 407 516 540 1,056
A RA T 361 319 362 681| HLAHET 1, 358 1, 547 1,542 3, 089] T IJHHT 430 538 550 1, 088) ZE4pHT R 1,335 1, 620 1,678 3, 298




3 PSR | N w I O N - S § TAk284E10 A 31 A BIE
GHEANEET) Fpg28E11H 1 HMERL
. A s A . A “ A m]
g % LSS 7 F Ly 4 W I LS 7 3 R = 7
T E 766 962| 1,019 1, 981|FE AT/ 145 201 202 403
BT 5 ] 328 472 476 948 & HMT F (L 218 298 287 585
LM 206 269 253 522| & FHT A 457 622 589 211
FEHmTFD (L 158 202 216 418 F T 282 351 335 686
FERRET )1 424 517 545 1, 062| & JH-HT i 569 760 733 1,493
FEHmT v iy 6 5 7 12| & 0T % H 412 535 574 1,109
FEBET FIARR 876/ 1,194 1,193 2, 387|FHHMT L 96 140 143 283
FEARIT AR R 1, 598 1,971 2,092| 4, 063| 7 HHETE 30 42 42 84
FEHRHI X 8,192| 10,141 10,546 20, 687| 7 H-HT R 308 425 418 843
I 228 189 236 425
oL 3,493 4,348 4,452 8,800 AT HA 38 52 53 105
SEFHET 1, 563 1,900 2,026 3, 926| F AT AR 11 10 15 25
ElliiLug 500 692 739] 1,431 FHTZ R 386 510 496 006
i73ELa) 190 233 244 A77| F FERTRIR 45 64 69 133
Fiti i 5 W] 266 304 287 591 | 7 HMT A 4o 131 182 162 344
3 7KHET 92 127 126 263| HIFHTH S 136 196 200 396
% JE[RIHT 72 97 106 203| T/ N 344 441 454 895
HE S HT 213 299 320 619| & JHFHT HAE 114 156 166 322
PYIE Sy HT 244 335 331 666 & TS I 173 207 205 412
AL ET 403 435 428 863| & HMT/NEE 208 296 283 579
T 3,238 4,114 4,126 8, 240| i HEHT G FE 577 746 717 463
HAHT 1,392 1, 688 1,720 3, 408| HIHMTFEM G — T B 325 369 394 763
= T 792 1,024 1,006 2, 030| TR A T H 368 423 470 893
R 1,415 1,612| 1,610  3,222|F WA =T H 276 382 369 751
T 1,239 1,454  1,494| 2, 948|EHETIEIE 299 400 412 812
Hh LT 419 515 566| 1, 081|F HMT T HE 95 128 128 256
PR HET 622 827 814 1, 641 & HHT [ B 134 191 177 368
FEHHT 505 595 659| 1,254 FHMTH O 57 78 81 159
THE G X 16, 658 20, 599 054| 41,653 FHHHIX 9,500 12,130 12,259| 24,389
BT 5,537| 6,096 305/ 12,401
T Hi X 5,537| 6,096 305 12,401
R T 1,150 1,415 1,490 2,905
= HH ET 907 859 1,006 1,865
SR T 460 583 569| 1,152
B4 (LT 94 55 80 135
AT 41 33 53 86
R EHT 375 538 544| 1,082
L RLIT 946| 1,196 244| 2,440
H LRI 699 887 912 1,799
- E AT 997| 1,245 1,257| 2,502
AHBHT 858 1,111 1,119] 2,230
e T 700 902 938| 1,840
T 171 221 232 453
+ 35T 190 240 244 484
B RET 328 450 432 882
LY R HET 109 120 128 248
HFHT 119 155 151 306
E 8,144 10,010/ 10,399| 20, 409
EHIHTE IR 642 746 783 1,529
TS IR 1,143 1,342| 1,365 2,707
HIH] N RAR 244 319 328 647
2 I RAR 1, 009 1,329  1,373] 2,702 i A 161,467) 184,651| 190, 745 375, 396




